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QID : 101 - Select the related word/letters/number from the given alternatives.

Gloomy : Dull : : Merciless : ?
U a1V feredl 7 & HefeIeT ATee/ 31T/ EEaT 1 gfAT|

3O GET ;L aEH 1 ?
Options:

1) Sympathetic

2) Calm

S

3) Flexible

Eoic

4) Harsh

FOR

Correct Answer: Harsh

FOR

Candidate Answer: Harsh

FOR

QID : 102 - Select the related word/letters/number from the given alternatives.
HI:MD::UV:?
U 10 feheul 7 & HefRIeT Alee/3T8T/EEaT A gfAT|

HI:MD::UV:?
Options:

1) YR

2) WS

3)2Q

4) ER

Correct Answer: ZQ
Candidate Answer: YR

QID : 103 - Select the related word/letters/number from the given alternatives.
JK:TV::0P:?
feu 1w fehedl 7 & HeTerd e/ 3R/EEET H IfAT|

JK:TV::0P:?
Options:

1) DF

2) WV

3)ST

4) QR

Correct Answer: DF
Candidate Answer: DF
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QID : 104 - Select the related word/letters/number from the given alternatives.
76:42::46:7
T&u 91T faehot 7 & Heiftre erse) 3reR/aear # g

76:42::46:7
Options:

1) 52

2) 24

3)36

4) 64

Correct Answer: 24
Candidate Answer: 24

QID : 105 - Select the odd word/letters/number/number pair from the given alternatives.

feu 1w faehet 7 & fawa Qreey 3161/ HEAT/HEAT ZIA AT
Options:

1) Tuberculosis

JEHAT

2) Chikungunya

3) Malf';lria
Eire

4) Dengue
EDN

N
Correct Answer: Tuberculosis
J&HAT

Candidate Answer: Malaria

AARAT

QID : 106 - Select the odd word/letters/number/number pair from the given alternatives.

Rw 1w el 7 & fawa ereey 3161/ HEdT/HEdT Z7A AT

Options:
1) FHG

2) NOP
3) TVU

4) WYX
Correct Answer: NOP
Candidate Answer: NOP

QID : 107 - Select the odd word/letters/number/number pair from the given alternatives.

feu a1v faehet & & fawaT Qreey 36T/ TEAT/HEAT ZIA AT

Options:
1) 8715

2) 5712
3) 9817

4) 6812
Correct Answer: 6812
Candidate Answer: 6812

QID : 108 - Select the odd word/letters/number/number pair from the given alternatives.

Teu 1w faehedt 3 & fawaT ereey 3767/ TEdT/HEAT Z7A AT
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Options:
1) 961

2) 443
3) 361

4) 289
Correct Answer: 443
Candidate Answer: 443

QID : 109 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

Core, Photosphere, Chromosphere, ?

Teh 37eThe 1T a1 &, ToIee & b e ot ¢ | fow 1w faehout & ag @l faehed iaw, it 3iefsher bl QU |

FR, PSRN, PIATCHIT
Options:

1) Mantle

Heer

2) Corona

HRIAT

3) Crust

h¥c

4) Asthenosphere
TEFEARY

Correct Answer: Corona

FRIAT

Candidate Answer: Asthenosphere

TEERERREY

QID : 110 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.
BDE, HIK, NPQ, ?
Teh 31eThe T aTaT &, ToIee & b e o ¢ Rw 1w frehodt 7 & ag @l fahed YiAT, St 31efshe bl QU |

BDE, HIK, NPQ, ?
Options:

1) UWX

2) TVW

3) VXY

4) WYZ

Correct Answer: TVW
Candidate Answer: TVW

QID : 111 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.
RQ, ST, VU, WX, ?
Tk 31eToRA T I B, Foe & vk ue o ¢ T arw et # & a5 w6 Feew gfAiw, St 3w B qu |

RQ, ST, VU, WX, ?
Options:

1) zY

2) OP

3)Yz

4) PO

Correct Answer: ZY
Candidate Answer: YZ

QID : 112 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

9, 1331, 18, 121, 27, ?

Teh 37eTehe 1T aTT &, TSI & b e ofedt ¢| fow 1w faehout 7 & ag el faehed AT, it 3iefsher bl QU |

9, 1331, 18, 121, 27, ?
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Options:

1) 19

2) 11

3)17

4) 13

Correct Answer: 11
Candidate Answer: 11

QID : 113 - In the following question, two statements are given each followed by two conclusions I and II. You have to consider the statements to be true even if
they seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements:
(I) Most crops are machines.
(II) Some machines are fools.

Conclusion:
(I) Some fools are machines.
(II) Some crops are fools.

AT U2 &, & HU=T T 10 & TSt 319 &Y fAsehy I 31K 11 Serrel 37T & 3T AT & 1 2T IcF & 98 § AEegd: Ald 924t & f@eer gdia g gl 3maehr
v e & fo T ar fasenst 7 & Sl A/l ¥ ARad ¥ & FUaT garT @8y e S Gt &/3%d €, I 1 &

hYel:
(1) 31Torenier weret #eliT &
(I1) T e 7@ €

IGA=oE

(1) F& @ == §

(I1) F& BHel 7 B

Options:

1) Conclusion I follows

w1 ¥

2) Conclusion II follows

oy 11 T g

3) Neither I nor II follows
AANIIRADI T E

4) Both I and II follows

IR G aETE

Correct Answer: Conclusion I follows
sy 1 T g

Candidate Answer: Both I and II follows
AR I et el &

QID : 114 - The age of Ravi is twice the age of Prakash and three times the age of Kumar. If the age of Prakash is 24 years, then what will be the age of Kumar
after 4 years ?

T & 37 TR & 38 F QAT & 3R FAR 1 337 I AT T[T &1 AT Tehrer 7 387 24 a9 §, AT 4 9§ & I HAR N 35 F77 g2
Options:

1) 16 years

16 a§

2) 20 years

209§

3) 24 years

24 a§

4) 22 years

22 a§

Correct Answer: 20 years

20 9§

Candidate Answer: 20 years

20 9%
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i. Optimistic

ii. Opposition
iii. Organization
iv. Ordinary

TAFATRI Qe T QTeeehIRr 3 et aTel Sl & 3TOR o |

i. Optimistic

ii. Opposition

iii. Organization

iv. Ordinary

Options:

1) ii, i, iii, iv

2) iv, iii, i, i

3) i, i, iv, iii

4) i, ii, i, iv

Correct Answer: ii, i, iv, iii
Candidate Answer: ii, i, iv, iii

QID : 116 - In a certain code language, "MOTHER" is written as "NPUGDQ". How is "ORANGE" written in that code language ?

s fafIse g T H "MOTHER" &Y "NPUGDQ" forar ST &1 38 13 #1197 7 "ORANGE" &t foher UehR forar smaamm?

Options:
1) PSBMDF

2) PSBMFD
3) PBSMFD

4) PSBDMF
Correct Answer: PSBMFD
Candidate Answer: PSBMFD

QID: 117 -

In the following question, select the missing number from the given series.

e vy o fou e el 4 O 3ie Fd Sifu)

Download More PapeStafSetestionSommisionovtJobsAlert.In

QID : 115 - Arrange the given words in the sequence in which they occur in the dictionary.

2891 10 7
109| ? 5
361 11 8

Options:

1)9

2)8

3) 16

4) 14

Correct Answer: 8
Candidate Answer: 8

QID : 118 - If "S" denotes "multiplied by", "V" denotes "subtracted from", "M" denotes "added to" and "L" denotes "divided by", then

12V3M441L21S8="7

AR 'S T 31 I, V" a3 I, MY T 37 s L 3§, o

12V3M4411L21S8=">
Options:

1) 661

2)-170

3) 174

4) 177

Correct Answer: 177
Candidate Answer: 177
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QID : 119 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it ?

LM_L_NL_N_M_
TrAfAfle geat 7 31eRT 1 HleT 1 GHE Trell T TR FHIR TG § & 97 HER Al T G Ham?

LM_L NL_N_M_
Options:

1) NNNLL

2) NMMLN

3) LMLMN

4) NMLMM

Correct Answer: NMMLN
Candidate Answer: NMMLN

QID : 120 - It is 10:30 by the clock. If the minute hand points towards the south direction, then which direction will the hour hand point to ?

T T A 10:30 991 I &1 T fAeTe i g afaor forr i 30T €, a 6 Hr g5 fora forr @ 30T gefre
Options:

1) South-west

gfeyor-afResT

2) North-west

ScaR-giRaH

3) North-east

Seat-qd

4) South-east

efror-gs

Correct Answer: North-west
Scd-gRaH

Candidate Answer: North-west

Sca-ufas

QID: 121 -
A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are repre-
sented by two classes of alphabets as shown in the given two matrices.
The columns and rows of Matrix-l are numbered from 0 to 4 and that of
Matrix-1l are numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for example, D can be
represented by 24, 13, etc., and R can be represented by 68, 69, etc. Simi-
larly, you have to identify the set for the word TIGHT.

U g dhad Ud SAI-HHg gRI G201 71 g, ol fos faweal o | faret
U  feg T 3| fameal § U TTU SoT1-9eg SaRT & &l 9 g1 aig
Y, o 3 faw e < sregt § 31 afedga o W ok dfdd @t g o
45 MR G-I B 5 9| 57 15! A U 24ER &I Ugdd ST Ul
IR 91% ¥ WY 1 GR1 G191 & ol g1 3GoRY & a8 p &l 24, 13
1S SR ST I Ghall & TUT R P 68, 69 TS, SRT ST <11 Tepell
T O 9§ AUH! Uy H AU Weg igHT & 1T THE &1 ugaE 3|

Matrix-1 Matrix-Il

ey - | =g -l
01234 567|189
OlE|G|D|T]|I 5/G|L|B|H|S
1T|C|E|A|D| I 61sIYILIRIR
§ [IJ L E ': i 71JH[Y[L]Q
4| T| I |H|C|E G2 |BS| ]
9IH|IK|G|S]|Y
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Options:
1) 40, 30, 21, 55, 11

2) 89, 14, 76, 13, 89
3) 21, 04, 55, 89, 03

4) 03, 41, 97, 76, 40
Correct Answer: 03, 41, 97, 76, 40
Candidate Answer: 03, 41, 97, 76, 40

QID : 122 - Pointing towards a boy, a girl says, "He is the only son of my mother's brother". How is the girl related to the boy ?

Teh oI5t T AT FURT FY §U Teh 5l o ol "IE B AT F HIS FT SholldT ST §1" T TISHI, 3 oI F 5T TPR e 8?7
Options:

1) Grandmother

G

2) Mother

Ar

3) Cousin

Rl aE

4) Aunt

T

Correct Answer: Cousin
B g
Candidate Answer: Cousin

G TEeT

QID: 123 -
If a mirror is placed on the line MN, then which of the answer figures is
the right image of the given figure?

g U GUUT &l M E1 R TE1 91, A1 &1 778 SR ol § 9 &1 Ot
HTpTa vy pfa & el wfafers grflz

2
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Correct Answer:
Candidate Answer:

QID : 124 - Identify the diagram that best represents the relationship among the given classes.

Festival, Durga Puja, Diwali, Eid
€ 3G AT S A T 21w @it & ey & Feler 7 FEY oot e g

Options:
1)

2)

=C

3)

O O
Q: @

D
QD

Correct Answer:

4)

Candidate Answer:

QID : 125 -
A piece ofpaper is folded and punched as shown below in the question
figures. From the given answer figures, indicate how it will appear
when opened.

e & Uy il | Gy 28R ST & JigeL #e ayl @led &
91c a5 foe ST e ST fexars e

C6 |
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Options:
1)

o]
O

)
=

o)
o000
&

Correct Answer:

o)
o 0
O

Candidate Answer:

o]
o 0
O

QID : 126 - Isfahan, the Persian Capital is said to have provided the inspiration to build which of these monuments?

FET ST § o, RE HY AT STRETT o Teh THRS & AT & T IROT Ueiel & ¢, 98 TR HeAtai@d H ¥ i arg?
Options:
1) Humayun's Tomb
T T AR
2) Mahabodhi Temple Complex
FErEer Hfe w g
3) Qutub Minar
FII AR
4) Red Fort Complex
aret forelT IRER

Correct Answer: Red Fort Complex
oot el IRER

Candidate Answer: Humayun's Tomb
G T FH

QID : 127 - Which one of the following is the name of Nobel Prize - winning Indian?

1131 & @ et A1 Teh Aol REPR AT HRAT T 77 82
Options:

1) Vikram Sarabhai

[CETRINEIES

2) APJ Abdul Kalam

TALST 3feqel HelH

3) S. Pancharatnam

T, oA

4) C.V. Raman

Ar.ay. T

Correct Answer: C.V. Raman
@ T
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Candidate Answer: C.V. Raman
&, T

QID : 128 - How many layers does Human Skin have?
HITT cadT # fohisiT Il 8T 82

Options:
1)5

2)7
3) 11

4)3
Correct Answer: 3
Candidate Answer: 3

QID : 129 - Allium Cepa is the scientific name of .

vl Aoar &1 dafas A #l
Options:

1) Carrot

Mo

2) Tomato

CTHIY

3) Potato

3T

4) Onion

arst

Correct Answer: Onion
Tt

Candidate Answer: Onion
oqrat

QID : 130 - DNA stands for .

STAT A U R @l

Options:

1) Di Nucleic Acid

318 = o Ui

2) Deoxy Nucleic Acid

i e TS

3) Diribonucleic Acid

SIS gfFerh TS

4) Deoxyribonucleic Acid

SrTEFERTSE frerh TRS

Correct Answer: Deoxyribonucleic Acid
SiTIRTEar FyfFoe TS

Candidate Answer: Deoxyribonucleic Acid

SrHTFANTSS g fFern TS

QID : 131 - Which among the following is false about natural rubber?

UTehfcieh @R & aR & AeATaild # @ shiet & a1 3180y §?
Options:

1) It is an elastomer

Ig T SARCIR gl

2) It is a monomer of cis-isoprene

I TOg-3msafieT & T A &

3) Natural rubber is a polymer of chloroprene

STehfceh o) FARITIT 1 U SgeTh (dTeeR) B

4) It is heated with sulphur compounds to improve its properties
$HF 0T 3 FUR @ & v 53 Towt A & arer ant frar S g
Correct Answer: It is a monomer of cis-isoprene

I ROg-3msafeT & U AR &
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Candidate Answer: It is a monomer of cis-isoprene

7E FE-3MART &1 T AR ¥

QID : 132 - Why does carbon tetrachloride have no dipole moment?

e CCIFANISS H IS SaYd et FT 76T 82

Options:

1) Because of same size of carbon and chlorine atoms
FTE 3R FA &5 TV 5 T IR 5 FRT

2) Because of regular tetrahedral structure

A Teger TTaT & FROT

3) Because of planar structure

FHATA AT & HROT

4) Because of similar electron affinities of carbon and chlorine
FIeT 3R FlT & THAT SeldeleT ThYT & HRUT

Correct Answer: Because of regular tetrahedral structure
afaa TeRse EET & HROT

Candidate Answer: Because of regular tetrahedral structure

AT CTRSe TR o HROT

QID : 133 - Convert decimal number 101 to binary.

ST HE&AT 101 F1 gfaudr 7 gRafda &%

Options:
1) 1100101

2) 1100111
3) 1101001

4) 1101011
Correct Answer: 1100101
Candidate Answer: 1100101

QID : 134 - 'Vallam Kali Boat Race' is held in which state?

'Toodd Flell dic 3T g Tog 7 3mafaia o Sar &2
Options:

1) Kerala

Execy

2) Tamil Nadu

RIGCEIE

3) West Bengal

T, 9T

4) Andhra Pradesh
TSR

Correct Answer: Kerala

el

Candidate Answer: Kerala

el

QID : 135 - If price of an article decreases from Rs P1 to Rs 75, quantity demanded increases from 1000 units to 1200 units. If point elasticity of demand is -3.2 find
P1?

T Teh aE N AT P1L & HH gIeT 75 T &1 STl &, AR AT &1 18 AT 1000 SSAT & T 1200 SHISAT g1 STl &1 TS AT 1 fofg ofrer -3.2 B, & PL AT A1 |
Options:

1) Rs 85

85%

2)Rs 80

80%

3)Rs 90

0%

4) Rs 95

95T

Correct Answer: Rs 80
80%
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Candidate Answer: [ NOT ANSWERED ]

QID : 136 - Match the characteristics with their market structure:

(a) Differentiated products, but close substitutes for consumers so their demand curves are elastic
(b) Homogeneous product, all goods are perfect substitutes for consumers

TIATAT3IT T ST ITAR TLTAT S T THeART Y

(a) TR 3cure, At 3usiFamsit & faw v FA e safaw sadH 79T Hr Fd ArdeR &1
(b) TS 3cUTe;, ART WA ITHIFATIT F T Tk TET faehe B
Options:

1) (a) Monopolistic Competition, (b) Pure Competition

(a) TRITEHR T2, (b) fage Fiarafarar

2) (a) Monopolistic Competition, (b) Pure Monopoly

(a) THITRIHR TR, (b) faefe TR

3) (a) Pure Competition, (b) Monopolistic Competition

(a) Taerg T, (b) ThMEshR gicafarar

4) (a) Pure Monopoly, (b) Pure Competition

(a) Taerg TR, (b) faerg Ffcra@rar

Correct Answer: (a) Monopolistic Competition, (b) Pure Competition
(a) THITRIRR TGN, (b) fagre glcafarar

Candidate Answer: (a) Pure Competition, (b) Monopolistic Competition

(a) fag giaAfEaT, (b) TahIRhR T farar

QID : 137 - Which of the following gases is produced due to incomplete combustion of fuel?

$UeT & UT Sael & FRUT AT 7 & Flet € 3\ Seveet @i 8?2
Options:

1) Carbon Dioxide

FIEA S AHTFAES

2) Carbon Monoxide

FeT AAST JiTFaEs

3) Methane

#rde

4) Ethane

e

Correct Answer: Carbon Monoxide
Fe AAST JTFaEs

Candidate Answer: Carbon Dioxide
FIE S AHTFAES

QID : 138 - Organisms that generate energy using light are known as

SiY SETO] FehrRT T 3TN L Foll Seeel il &, 370 F T HF ST ST B

Options:

1) Chaemolithotrophs
FaAfarierca

2) Oligotrophs

3ifoeierea

3) Bacteria

CEaire]

4) Photoautotrophs

wesiteeed

Correct Answer: Photoautotrophs
SNV

Candidate Answer: Photoautotrophs
weBieeeT

QID : 139 - Which is the first Hindi newspaper of India?

HRA T JUH BEr THAMER I AT A1 8?2
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Options:
1) Udaan
EEICH
2) Azad Vichaar
et faaR
3) Udant Martand
35d AGS
4) Vichaar Vyakti
IEELEIES)
Correct Answer: Udant Martand
3Ed AGS
Candidate Answer: Udant Martand
35d ATS

QID : 140 - What is the capital of Portugal?

GeTaTTel Y IISTEITGAT ST &2
Options:

1) Lisbon

o=t

2) Minsk

Hen

3) Vienna

e

4) Buenos Aires

T 3T

Correct Answer: Lisbon

o

Candidate Answer: Lisbon

fores=T

QID : 141 - Madrid is the Capital City of

Afzs Fr T B

Options:

1) Philippines

e

2) Maldives

HIEE

3) Spain

el

4) United Kingdom
FTSes s

Correct Answer: Spain

e

Candidate Answer: Spain

e

QID : 142 - Alexander the Great was born in

lere 7T HAergu Al
Options:

1) 356 BC

356 §.9,

2) 189 BC

189 §.4,

3) 189 AD

189 5.4

4) 356 AD

356 .4

Correct Answer: 356 BC
356 5.9,

Candidate Answer: 356 AD
356 5.4
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QID : 143 - Akbar (1556-1605 AD) was the ruler of which dynasty?

375ReT (1556-1605 $.) R ger T A AT?
Options:

1) Nanda

er

2) Maurya

At

3) Mughal

Harel

4) Haryanka

gl

Correct Answer: Mughal
el

Candidate Answer: Mughal
Il

QID : 144 - Who invented Rocket?

Tehe &1 Jifaver foraer fomam am?
Options:

1) Rich K Goyle

R & aiger

2) E M Forster

$ UH WiER

3) Robert Goddard

feC MeTS

4) James Anderson

SR UstE

Correct Answer: Robert Goddard
eE MeS

Candidate Answer: Robert Goddard
A MeTS

QID : 145 - Weight of a person at a height of 2R from the centre of the earth, where R is the radius of the earth

gt & e @ 2R Hr Fars ) e el safera &1 aee , ST8T R g2t 1 P g1

Options:
1) remains same

LR

2) becomes half

JTET &Y STRE

3) becomes twice

I &Y ST

4) becomes one-fourth

T AU B ST §

Correct Answer: becomes one-fourth
T A g ST

Candidate Answer: becomes one-fourth

T g g1 ST 8

QID : 146 - How can we measure specific gravity of milk?

g gy & faflrse e 8 A
Options:

1) Using a viscometer

FAEPIAIC &1 3TN

2) Using an odometer

3 & 3TN Fh

3) Using a hygrometer

BTSN T 3TANT Fh

4) Using a hydrometer

ETBIHIET T 3YIT FH
Correct Answer: Using a hydrometer

ETBSIHICT T ITHT Ih
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Candidate Answer: Using a viscometer

TR T 3T FH

QID : 147 - Constitution Day of India is on

AR T iau feaa T 3TAT &
Options:

1) 26th January

26 ST

2) 23rd June

23 5

3) 15th August

15 39T

4) 26th November

26 TGS

Correct Answer: 26th November
26 FAdeX

Candidate Answer: 26th November
26 FAdX

QID : 148 - Article 44 of the Indian Constitution "Uniform civil code for the citizens" deals with .

AR HAETeT 7 3Tese 44 "ARTRERT & TIT G ARTR Higar', ____ T Hafed g1
Options:

1) the directive principles of state policy

o7 A & R Rgia

2) the Union Government

G TER

3) the State Government

T AP’

4) the fundamental rights of the Indian Citizen

HRART ARTRe & Hifosw feR

Correct Answer: the directive principles of state policy
T Afa & R Rgia

Candidate Answer: the directive principles of state policy

T Y & PR RBegia

QID : 149 - Who is the first Indian cricketer to have scored a triple hundred in test cricket?

IE IUH AR fohehe TR i 8, TovdeT ¢ve #9 A fag<r e s=imr ar?
Options:

1) Rahul Dravid

g 5fas

2) Sachin Tendulkar

Tl Tger

3) VVS Laxman

VVS &&-HoT

4) Virender Sehwag

Ta¥ex wgamr

Correct Answer: Virender Sehwag
fa¥ex Tgamr

Candidate Answer: Virender Sehwag

fa¥ex wgamr
QID : 150 - Who wrote the book "The Arabian Nights"?

"g 3RFITeT ArseH" TEa fraa fordy o
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Options:

1) Stephen Hawkings
et gifched

2) Vikram Seth
[CETE

3) Zoya Hasan

ST T

4) Richard Burton
g scat

Correct Answer: Richard Burton

s a1

Candidate Answer: Richard Burton

s o

QID : 151 - The sumof 4x + 3y -7z, x-y-zand -2x- 3y + 4z is

4x + 3y - 7z, X - y - z AR -2x - 3y + 4z T AT FAT§?

Options:
1) 3x-y-4z

2)3x-y+4z
3)3x+y-4z

4)3x+y+4z
Correct Answer: 3x - y - 4z
Candidate Answer: 3x -y -4z

QID : 152 - What should be the average speed of the car to cover a distance of 342 km in 1.9 hours?

342 Rl T gl 1.9 9 7 aF & & FoIw R &1 3ed aifar ettt gt @nfge ?
Options:

1) 180 m/s

180 #/&

2) 90 m/s

90 Hy/&

3) 50 m/s

50 H/A

4) 100 m/s

100 #y/&

Correct Answer: 50 m/s
50 Hy/A

Candidate Answer: 50 m/s
50 #y/&

QID : 153 - Total surface area of a cube is 486 sq cm, find sum of length of all its edges?

Teh ©ef & el Tclg T &hel 486 I QA B, 35 TN FReTRT Y oia1s o AT A AT A
Options:

1) 216 cms

216 T

2) 108 cms

108 .7

3) 54 cms

54 T

4) 162 cms

162 .5

Correct Answer: 108 cms
108 &.7.

Candidate Answer: 216 cms
216 &4
QID : 154 - Profit of Rs 104000 has to be divided among three partners Ashok, Bimla and Chirag in the ratio 6:4:3. How much does Chirag get?

104000 % 3 ST T 6:4:3 3 3Tl & olieT FEASRT 31eieh, Travelr 3R FoRTeT # Sier ST 81 ﬁﬂwaﬁmwgm?
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Options:
1) 24000

2) 32000
3) 48000

4) 12000
Correct Answer: 24000
Candidate Answer: 24000

QID : 155 - If (1 + sinA)/cosA + cosA/(1 + sinA) = x, then the value of x is

I (1 + sinA)/cosA + cosA/(1 + sinA) = x,dY x T 1T AT §?

Options:
1) 2cosecA

2) 2cosec?A
3) 2sec?A

4) 2secA
Correct Answer: 2secA
Candidate Answer: 2secA

QID : 156 - The diagonals are not perpendicular in a .

____ ¥ ol omad ag 8 €1
Options:

1) Parallelogram

2) Kite

gder

3) Rhombus

T

4) Square

Gl

Correct Answer: Parallelogram
Candidate Answer: Parallelogram

QID : 157 - An angle is (2/3)rd of its supplementary angle. What is the measure of the angle?

Teh ST e 3 qTeh 10T T (2/3)-al TEEAT §1- 10T 6 HIY 7Tl HT?
Options:

1) 108°

2) 72°

3) 54°

4) 36°

Correct Answer: 72°

Candidate Answer: 72°

QID : 158 - If the selling price is Rs 855 after getting a discount of 5%, what was the marked price?

ITE 5% T T el & a1 orsht Hed 855 T §, ol 38T Rfee A Far A
Options:

1) Rs 897.75

897.75 %

2)Rs 812.25

812.25%

3)Rs 814

814 %

4) Rs 900

900 %

Correct Answer: Rs 900
900 %
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Candidate Answer: Rs 900
900 %

QID : 159 - Dev lent Rs. 8000 to Jairam for 17 years and Rs. 4700 to Karnik for 16 years on simple interest at the same rate of interest and received Rs. 21120 in all

from both of them as interest. The rate of interest per annum is:

&d o ST T 17 st o foIT 8000 & 3R T 3 ifereh 1 38 &7 X 16 at & fAT 4700 & 3UR U 3R 21 & STl & T 3 Pl 21120 T W T | ATiden STl &

frcet grem?
Options:

1) 10.5 percent
10.5 wfaera

2) 10 percent
10 gfaera

3) 11 percent
11 gfdera

4) 11.5 percent
11.5 wfaera

Correct Answer: 10 percent

10 wfaerd

Candidate Answer: 10 percent

10 gfaea

QID : 160 - If cos 2n/3c = X, then the value of x is

fe cos 2n/3¢ = X, aT X T FAT AT &2
Options:

1)-1/2

2)1/2

3) V3/2

4) -V3/2

Correct Answer: -1/2

Candidate Answer: 1/2

QID : 161 - The area of a trapezium is 21 sq cm, the distance between the parallel sides is 3 cm and one of the parallel sides is 8.3 cm. What is the length of the

other parallel side?

Uk GHAF TGS T &1 21 g3 QA §, AL i o ofrer ¥ gl 3 QA 3N FAGICR o F & Teh Y ofars 8.3 A.AY. B| 3T FAGAII [T H oias a1 82

Options:
1) 12.7 cm
12.7 {70
2)7.7cm
7.7 QA
3) 10.7 cm
10.7 7.7
4)5.7cm
5.7 Q..

Correct Answer: 5.7 cm
5.7 Q..

Candidate Answer: 5.7 cm
5.7 Q.

QID : 162 - If cot(A/2) = X, then the value of x is

Ife cot(A/2) = x, AY x T T AT §?
Options:

1) cosecA - cotA

2) cosecA + cotA

3) secA + cotA

4) secA - cotA

Correct Answer: cosecA + cotA
Candidate Answer: secA - cotA

QID : 163 - The points A(x,2), B(-2,1) and C(6,-3) are collinear. Find x?

ﬁgA(x, 2), B (-2,1) 3R C (6, -3) TR §| x & IdT oEMG?
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Options:
1)4

2)-2
3)-4

4)2
Correct Answer: -4
Candidate Answer: -4

QID : 164 - A vendor buys some bananas at the rate of 2 for Re 1 and sells at the rate of 10 for Rs 7. What will be the result?

T IRl T6 ol 1 T H 2 & eaa @ @liear ¢ 3R 7 T # 10 & o & 3= &ar &1 g8 a1 aRkoms gem?
Options:

1) 40 percent loss

40 gfaerd gifer

2) 28.57 percent gain
28.57 gfaerd ot

3) 40 percent gain
40 gfaerd omT

4) 28.5 percent loss
28.5 wfderd gifer

Correct Answer: 40 percent gain
40 wfdera wmst

Candidate Answer: 40 percent gain
40 gfderd ome

QID : 165 - Given: x - 5 < 2x - 3 and 2x -1/2 > 5x + 2; then x can take which of the following values?

AT I™TE: x - 5 < 2x - 3 3 2x -1/2 2 5x + 2; TR x 7 =T AT F F F=r AT gem?
Options:

1) -1

2)1

3)3

4)-3
Correct Answer: -1
Candidate Answer: 1

QID : 166 - The mean of marks secured by 45 students in division A of class X is 56, 40 students of division B is 52 and that of 40 students of division C is 50. Find
the mean of marks of the students of three divisions of Class X.

EadT FH8T o T3St A 3 45 BT gaRT Jed 363 9131 371 &7 3T 56 &, F3dieret B 3 40 o1 & 37et &1 3itad 52 § 3R 3t C 3 40 o1 & 37@! & 3itad 50 1 gaar
F8T & AT BTt & BET & 37l & 3ad 71T Y |

Options:

1)52.1

2)51.4

3)52.8

4) 54.2
Correct Answer: 52.8
Candidate Answer: 52.8

QID : 167 - Find the value of
199992 x 200008 = ?

AT AT P
199992 x 200008 = ?

Options:

1) 39999799936
2) 39999999836
3) 39999999936
4) 39999999926

Correct Answer: 39999999936
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Candidate Answer: 39999999936

QID : 168 - Which of the following quadratic equations has real roots?

frfafld cfaara waemor & @ g areafas 7er 82
Options:

1)4x2-9x+6=0

2)3x2-2x+6=0

3)2x%2-7x+6=0

4)x%-2x+2=0

Correct Answer: 2x2 - 7x + 6 = 0

Candidate Answer: x2 - 2x +2 =0

QID : 169 - The solution set of 4x - 3y = 10 and 3x + y = 14 is

4x-3y =103 3x +y =14 FET &

Options:
1 {5, 3)}

2){(4, 2)}
3){(11, -1)}

4) {2, 3)}
Correct Answer: {(4, 2)}
Candidate Answer: {(4, 2)}

QID : 170 - If 16% of an electricity bill is deducted, Rs 1806 is still to be paid. How much was the bill?

T Tandl farstelr & Torer & 16% e &Y el §, oY 3730 81 1806 T T 33T AT SR T§ ST &1 TR & oyt fobetetr ar?
Options:

1) Rs 1557

1557 %

2) Rs 2186

2186 %

3) Rs 1593

1593 %

4) Rs 2150

2150%

Correct Answer: Rs 2150
2150 %

Candidate Answer: Rs 2150
2150%

QID : 171 - P and Q can do a project in 20 and 12 days respectively. In how many days can they complete 40% of the project if they work together?

P 3R Q shAer: 20 3T 12 ot # Ueh TRATSTAT 9 Fehel 8| Fohcial il & & TRATSTAT & 40% 1A U 33, A 3 Ueh A1 i 12
Options:

1) 1.5 days

1.5

2) 3 days

3 et

3) 6 days

6 feet

4) 9 days

9 feet

Correct Answer: 3 days

3 feet

Candidate Answer: 3 days
3 et
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Refer the below data table and answer the following Question.

3 fad o Ser arfdre & ey W FafatEa vy F1 IR 2

Number of Annualsalary | Bonus as percent
employees (in lakhs) of annual salary
et ) # w0 o gmd
Manager / ugu® 1 60 30%
Executive / SERT 8 12 30%
Trainee / uf3rg 5 2 10%
What is the average bonus (in rupees)?
Sirea d (ol ) e &2
Options:
1) 478000
2) 246667
3) 341429
4) 218000

Correct Answer: 341429
Candidate Answer: 218000

QID: 173 -

Refer the below data table and answer the following Question.

de o e S Ao & R R PeRa uy mr g Sl

2011 | 2012 | 2013 | 2014 | 2015
CompanyA /SOt A| 2000 | 2000 | 2000 | 4000 | 3000
CompanyB /%ot B| 5000 | 3000 | 2000 | 3000 | 4000
CompanyC/ g+t €| 2000 | 1000 | 1000 | 3000 | 2000

For which of the following pairs of years the total exports from the

three Companies together are equal?
(Note: Figures given are in lakh rupees)

19 ¥ @ avl @ & @ S & fore i1 uf-al @1 o Hafd sueR g

(ie: fag g s ara UL H g)

Options:

1) 2011 & 2013
2011 ©g 2013
2) 2011 & 2015
2011 ©g 2015
3) 2011 & 2012
2011 ©d 2012
4) 2014 & 2015
2014 ©d 2015

Correct Answer: 2011 & 2015
2011 ©g 2015

Candidate Answer: 2011 & 2015
2011 Ta 2015
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QID: 174 -
Refer the below data table and answer the following Question.

313 fed o e arftre & ey W FeET vy s IR 2

Year Profit or (-Loss)
aﬁ in Rs Crore
Bg T H

TIH AT (-JFHH)

2011 10

2012 -20

2013 -15

2014 10

2015 -25

What was the total Profit or loss of the company in last 5 years?

e Ui aul f Ul &1 S a1y g1 TH9H fdhd yi?

Options:

1) Loss of Rs 50 crores
50 &S T I hale

2) Profit of Rs 40 crores
40 S T T I o1

3) Profit of Rs 50 crores
50 313 T T o

4) Loss of Rs 40 crores
40 S T T FhHT
Correct Answer: Loss of Rs 40 crores
40 F3 T T Tl

Candidate Answer: Loss of Rs 40 crores
40 FS T T heT

QID : 175 -
Refer the below data table and answer the following Question.

31 123 U 221 At & YR oY FERiET vy 21 ST Sl

India’s exports in 2015 |Value in million USS

ay 2015 H YRA &1 faid | fufems Ster o 0w

lewellery / Sigw 625
Software / TGcdaR 725
Cotton / SO 825
Steel / T 750

Electronics / ﬁ@ﬁﬂﬁ 625

Software was what percent of total exports?

HIFedaR &I faid HRd & P aid BT faea- ufaerd u1?

Options:

1) 25.42 percent
25.42 gfaera

2) 22.92 percent
22.92 yfaerd

3) 20.42 percent
20.42 yfaerd

4) 17.92 percent
17.92 wfaerd
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Correct Answer: 20.42 percent
20.42 gfaerd

Candidate Answer: 20.42 percent
20.42 gfaerd

QID : 176 - In the following question, sentence given with blank is to be filled in with an appropriate word. Select the correct alternative out of the four and indicate

it by selecting the appropriate option.

The professor over just one point for full two hours.

Options:

1) deliberated

2) mentioned

3) conversed

4) stated

Correct Answer: deliberated

Candidate Answer: conversed

QID : 177 - Rearrange the parts of the sentence in correct order.

Statistics show

P-figures over the last three decades
Q-in several parts of India

R-a steady rise in the turnout
Options:

1) RPQ

2) RQP

3) PQR

4) QPR

Correct Answer: RPQ

Candidate Answer: PQR

QID : 178 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate

option. If a sentence is free from error, select 'No Error'.

Priya got good grades(A)/not in Hindi essay(B)/but also in arithmetic.(C)/No error(D)

Options:

1)A

2)B

3)C

4)D

Correct Answer: B
Candidate Answer: B

QID : 179 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

the recently dead person in question
Options:

1) obliviate

2) deceased

3) euthanized

4) reposed

Correct Answer: deceased

Candidate Answer: euthanized

QID : 180 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

The best of both worlds
Options:

1) To live like a saint so that you are the best in the living world as well as the heavens

2) To be lucky in life as well as in death
3) The benefits of widely differing situations, enjoyed at the same time
4) To be popular amongst both the opposing groups

Correct Answer: The benefits of widely differing situations, enjoyed at the same time

Candidate Answer: To be lucky in life as well as in death

QID : 181 - Select the antonym of

vigour
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Options:
1) lethargy
2) fettle

3) kilter

4) robust

Correct Answer: lethargy
Candidate Answer: lethargy

QID : 182 - Select the synonym of:

streak
Options:

1) freak

2) bright

3) immaculate
4) smear

Correct Answer: smear
Candidate Answer: immaculate

QID : 183 - Select the antonym of:

skeptic
Options:
1) profaner
2) heretic
3) atheist
4) devotee

Correct Answer: devotee
Candidate Answer: heretic

QID : 184 - Select the word with the correct spelling.
Options:

1) humanoid

2) spiling

3) amigrate

4) referrent

Correct Answer: humanoid
Candidate Answer: referrent

QID : 185 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I told to the coach(A)/that I won't be able(B)/to come for the practice.(C)/No error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

QID : 186 - Select the synonym of

sentry

Options:

1) bandit

2) competitor

3) sentinel

4) foe

Correct Answer: sentinel
Candidate Answer: bandit

QID : 187 - Improve the bracketed part of the sentence.

If a person (studied) the history of the Maratha empire, he would have wondered how a small warrior tribe could have challenged the mighty Mughals.
Options:

1) has studied

2) had studied

3) could study

4) no improvement

Correct Answer: had studied
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Candidate Answer: has studied

QID : 188 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To take the cake

Options:

1) To have something unexpectedly good to eat

2) To get a lovely gift

3) To grab the prize before others

4) To to be especially good; outstanding

Correct Answer: To to be especially good; outstanding
Candidate Answer: To get a lovely gift

QID : 189 - Select the word with the correct spelling.
Options:

1) rewolver

2) culpable

3) vagetate

4) rhythmmic

Correct Answer: culpable

Candidate Answer: vagetate

QID : 190 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one, which best express
the same sentence in Indirect/Direct speech.

Father said to Rahul, “Are you in such a hurry to cross the road?”

Options:

1) Father asked Rahul if he was in such a hurry to cross the road.

2) Father asked Rahul whether he was in a big hurry to cross the road.

3) Father asked Rahul that if he was in such a hurry to cross the road.

4) Father ask Rahul whether he was in such a hurry to cross the road.

Correct Answer: Father asked Rahul if he was in such a hurry to cross the road.
Candidate Answer: Father asked Rahul if he was in such a hurry to cross the road.

QID : 191 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one, which best expresses the
same sentence in Passive/Active voice.

The most useful gift of my wedding was given to me by my aunt.
Options:

1) My aunt gave me the most useful gift of my wedding.

2) My aunt had given me the most useful gift of my wedding.

3) The gift which has been most useful has been given to me by my aunt.
4) My aunt has given me the most useful gift of my wedding.

Correct Answer: My aunt gave me the most useful gift of my wedding.

Candidate Answer: My aunt gave me the most useful gift of my wedding.

QID : 192 - Rearrange the parts of the sentence in correct order.

A dissent in a court

P-the intelligence of a future day
Q-to the brooding spirit of law, to
R-of last resort is an appeal
Options:

1) QrRP

2) RQP

3) PRQ

4) PQR

Correct Answer: RQP

Candidate Answer: RQP

QID : 193 - Improve the bracketed part of the sentence.

By 2030 India (would) have become the most populous country in the world.
Options:

1) will

2) should

3) shall

4) no improvement

Correct Answer: will
Candidate Answer: will
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QID : 194 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

I won't be able to come to the party, as I have certain to meet.
Options:

1) promises

2) commitments

3) assurances

4) tasks

Correct Answer: commitments
Candidate Answer: assurances

QID : 195 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

To cut off a branch, limb, or twig from the main body of a tree
Options:

1) dollop

2) clop

3) lop

4) slop

Correct Answer: lop

Candidate Answer: clop

QID : 196 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Restorative justice is from mediation though it involves meetings and dialogues to fix responsibility for wrongdoing and to
find a solution acceptable to three parties. More importantly, it directly addresses victim needs and
emphasises the private dimensions of a public wrong. It is not a substitute the formal criminal justice system, but a good

backup to reduce its workload and to increase the sense of justice in the system as a

Restorative justice is from mediation though it involves meeting
Options:

1) clear

2) distinct

3) recognisable

4) specific

Correct Answer: distinct

Candidate Answer: distinct

QID : 197 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Restorative justice is from mediation though it involves meetings and dialogues to fix responsibility for wrongdoing and to
find a solution acceptable to three parties. More importantly, it directly addresses victim needs and
emphasises the private dimensions of a public wrong. It is not a substitute the formal criminal justice system, but a good

backup to reduce its workload and to increase the sense of justice in the system as a .

to find a solution acceptable to three parties.
Options:

1) all

2) entire

3) full

4) complete

Correct Answer: all

Candidate Answer: all

QID : 198 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Restorative justice is from mediation though it involves meetings and dialogues to fix responsibility for wrongdoing and to
find a solution acceptable to three parties. More importantly, it directly addresses victim needs and
emphasises the private dimensions of a public wrong. It is not a substitute the formal criminal justice system, but a good

backup to reduce its workload and to increase the sense of justice in the system as a

More importantly, it directly addresses victim needs and emphasises the private dimensions of a public wrong.
Options:

1) so

2) therefore

3) because it

4) then it

Correct Answer: therefore
Candidate Answer: because it
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QID : 199 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Restorative justice is from mediation though it involves meetings and dialogues to fix responsibility for wrongdoing and to
find a solution acceptable to three parties. More importantly, it directly addresses victim needs and
emphasises the private dimensions of a public wrong. It is not a substitute the formal criminal justice system, but a good

backup to reduce its workload and to increase the sense of justice in the system as a

It is not a substitute the formal criminal justice system,
Options:

1) to

2) for

3) of

4) from

Correct Answer: to

Candidate Answer: for

QID : 200 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Restorative justice is from mediation though it involves meetings and dialogues to fix responsibility for wrongdoing and to
find a solution acceptable to three parties. More importantly, it directly addresses victim needs and
emphasises the private dimensions of a public wrong. It is not a substitute the formal criminal justice system, but a good

backup to reduce its workload and to increase the sense of justice in the system as a

a good backup to reduce its workload and to increase the sense of justice in the system as a
Options:

1) total

2) aggregate

3) whole

4) entirety

Correct Answer: whole

Candidate Answer: aggregate
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